MISS OTIS REGRETS Cole Porter 1934

,'t"“ ¥ Intro Notes:
1] A song by Cole Porter from 1934. It was first
performed on stage by Douglas Byng in Hi Diddle
Diddle, which opened October 3, 1934 at the Savoy
Theatre, London.
* . It is said that whilst at a restaurant Cole
SUS|e doeS |ntr0 Boasted he could make a song from
: : : anything. So they bet him that he could not
Su_e Sln_gs the yeIIOW hlgh“ght Sthf make a song from the next words he heard
Brian SINgS the blue stuff on the restaurant. This is it.
A Bm? E7 A Bm? E7
4 F[: 26000 40:€q¢ FC: 2¢%%% 4
L] L ]
cls A DF# B EGZD n:I:l A A DTFB Ty
1. Miss Otis regrets she's unable to lunch today. Madam
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Miss Otis regrets she's unable to lunch today.
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She is sorry to be delayed,
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but last evening down in Lover's Lane she strayed, Madam
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Miss Otis regrets she's unable to lunch  to-day.
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When she woke up and found That her dream of love was gone, = Madam,
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She ran to the man Who had led her so far astray,
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And from under her velvet gown
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She drew a gun and shot her lover down, Madam,
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Miss Otis regrets she’s unable to lunch to-day.

3.

A Bm7 E7 A Bm?

4 E: 26000 4¢3 4 FQ:: 2699
) .

| |

Cc# 3 G CFLE A ADOIFD

When the mob came and got her And dragged her from the jail, Madam,
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They strung her upon The old willow across the way,
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And the moment before she died
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She lifted up her lovely head and cried, Madam,
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Miss Otis regrets she’s unable to lunch To-day
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